TRE0EE BRIBEEOHITIRR
B H
= B g F £ RES ZDth =
47 10,000 10,000
5H 5,000 5,000
6 H 10,000 10,000
7H 0 0
8H 0 0
9H 0 0
108 0 0
118 0 0
128 5,000 5,000
1R 35,000 35,000
28 0 0
3H 0
it 65,000 0 0 0 65,000
BRXBEOAR
ERR30FE4 A5 M
HFEl En B S F &5
1 =& 46| B IR ETER-XHBERKIBHEE smE 10,000
Hi 14 10,000
58%
&Sl En B S F &5
1 =& 5/2|BIsRs SmE 5,000
& 14 5,000
68 %
HEl En B S Bkt
1 =& 6/8|PFREF-HEAFREBREHEIBHEE SME 10,000
G 14 10,000
7 ﬁ VAN
g En B S &%
B ot 0
8H R
EEl En B S &%
B ot 0
98
EEl E» B S &5
B ot 0
108 %
2 ER B S &%
B ot 0
11 8%
g ER B S &%
G ot 0




128 %

2] EH» Bt BE XS
1| <8 12/19|ABREERRBRE smE 5,000
it 14 5,000
ER31FE18 R _
&S| En B 1+ BE T HEEE
1| =& 1/6|RREHER SME 10,000
2l £%& /12| X HFRELHERRRE SmME 10,000
3| £& 1/16|REZEREZERELSHTES SNE 10,000
4 =% /2| BEELETMEERSBES SnE 5,000
it a4 35,000
285 _
&S| En B 1+ BE T HEEE
H ot 0
3B
&5 E» Bt BE T HE5E
& o 0




